leqn 10.2
1.  AXYZ 3, syHi XY = 4.5 34|, YZ = 5 A¥l 214 ZX = 6 @l €l
6¥. W& :AXYZ, syHi XY = 4.5 @l YZ = 5 w4l w14 ZX = 6 2l
AL : AXYZ

X

4.5 ¥4l 6 ¥l

b ¥ 4

RAALAL AU

(@) 5 Al dotiddl wulvis YZ el

(b) Z < 5+ @) 6 AHl Biowal 4 2y 23,
(€)Y < 5e¢ @9 4.5 Aul Bioral & Ay 23l
(d) i1 i AU 654l 92 ded UM, iUl (o1, X.
(e) 2uilvis XY wid 3uIvis XZ svlsl.

AXYZ v 1 [Bisie &9



o¥<{l ooy HIW 5.5 AH| 1A Al AHoUsy AL 2L 53U
6f. & :AABC, s¥Hi AB = BC = AC = 5.5 44l
QL : UHollsy AABC

A

5.5 adl 5.5 4l

& 5.5 44l ¢

RAALAL AU

(@) 5.5 Al dotl)l 2uivis BC ezl

(b) C < %< @) 5.5 |l Riswal a5 A1y 22l
(C) B A 5-¢ @9 5.5 Aul Bioral & Ay 23l
(d) i1 i AU 654l 92 ded UM, 21Ul (015, A,
(e) 2uAIvis AB i 2uilvig AC oylsl.

AABC i HI9ld, HHollsy (AsliL €9,



3. APQR 23, &4l PQ = 4 A4, QR = 3.5 AyH| 24 PR = 4 44l O,
2L AL UstRAL Qsio e ?
6f. & :APQR, svHi PQ = 4 «AHl, QR = 3.5 «#l 24 PR = 4 4l

22l : APQR

=

RAeleAl AL

(a) 3.5 A4l dotld-l 2uivis QR 23l

(b) R A 5<¢ @ 4 A4l Biowal 4 Ay 23l
(C) Q A 5w @ 4 Al Biswal 49 Ay 234,
(d) il oid AU 4l 92 ded UM, il (o1, P.
(e) 2uilvis PQ uid 3uivis PR sylsl.
APQR %1 Hiold (Bisia €9,

olde BA5iEL dHBousy (510l 9.



4. AB = 2.5l BC = 6 A4l »1l AC = 6.5 Al €11 d4l AABC 3. 2B < Hiu Hadl,
&. U8 :AABC, syHi AB = 2.5 4Hl, BC = 6 4Hl 24 AC = 6.5 44l
2L : AABC

RAAlAL AU

a) 6 AHl douSel 2uivig BC 2zl

b) C  5c¢ 4 6.5 |l Biorul @) A1y 23,
C) B d 5¢ @5 2.5 Wl Biowil 49 Ay 3.

e) 2uilvis AB uid 2uvis AC svlil.
f) staiius<l Hee 4l el B Hiul.
AABC i H13id (35181 &9 dHsy msB = 80°
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(d) i1 oid AU 64l 92 ded UM, 21Ul [o1g A.
(
(



